
47K Z = 19 N = 28 adopted link ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020

BE = 400.199 ( 0.001) MeV

Qbeta- = 6.633 ( 0.003) MeV

Energy T J+ J- J-other T1/2

-----------------------------------------------------------------------------------------------

47K 1 | 0.000 1/2+ | | 1 17.50 S 24

47K 2 | 0.360 3/2+ | | 2 1.1 NS 3

47K 3 | | | 2.020 (7/2-) 3 6.3 NS 4

47K 4 | | | 2.287 4

47K 5 | | | 3.350 5/2+,3/2+ 5

47K 6 | | | 3.432 (5/2)+ 6

47K 7 | | | 3.718 (3/2-) 7

47K 8 | | | 3.762 (5/2-) 8

47K 9 | 3.850 1/2+ | | 9

47K 10 | 3.930 3/2+ | | 10

----------- -----------------

47K 11 | | | 4.170 11

47K 12 | | | 4.360 12

47K 13 | | | 4.434 13

47K 14 | | | 4.740 14

47K 15 | | | 4.900 15

47K 16 | 5.220 5/2+ | | 16

47K 17 | 5.465 5/2+ | | 17

47K 18 | | | 5.790 18

47K 19 | | | 5.842 (5/2-) 19

47K 20 | | | 6.150 5/2+,3/2+ 20

----------- -----------------

47K 21 | | | 6.260 21

47K 22 | | | 6.420 22

47K 23 | | | 6.462 (5/2)+ 23

47K 24 | | | 6.870 (5/2)+ 24

47K 25 | | | 7.150 25

47K 26 | | | 7.380 26

47K 27 | | | 7.570 (5/2)+ 27

47K 28 | | | 7.762 (5/2)+ 28

47K 29 | | | 8.035 (5/2)+ 29

S-n = 8.369 ( 0.002)----------------------------------------------------------------------

47K 30 | | | 8.530 5/2+,3/2+ 30

----------- -----------------

S-p = 13.230 ( 0.003)----------------------------------------------------------------------

S-n = 8.369 ( 0.002)----------------------------------------------------------------------

S-2p = 32.027 ( 0.136)----------------------------------------------------------------------

S-2n = 15.239 ( 0.001)----------------------------------------------------------------------
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S-alpha= 13.977 ( 0.062)----------------------------------------------------------------------

S+p = -15.802 ( 0.001)

S+n = -4.644 ( 0.002)

S+2p = -25.428 ( 0.003)

S+2n = -10.042 ( 0.002)

S+alpha = -9.963 ( 0.003)

gap p = -2.572 ( 0.003)

gap n = 3.726 ( 0.002)

gap 2p = 6.599 ( 0.136)

gap 2n = 5.197 ( 0.002)

gap alpha = 4.014 ( 0.062)
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